Lecture 13: Chapter 32, RC-circuit, October 18 2005

(a) Before the switch closes

The switch will--., (b) After the switch closes
lose at t = 0.
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Charge Q An exponential

"decay curve
o The charge has
decreased to
2 “* 37% of its initial
& valueatr=r.

The charge has
decreased to
#13% of its initial

v value at r = 2.
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(b)

The current has decreased to
37% of its 1initial value at r = 7.
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Charging Capacitor

(a) Switch closes at r = 0 s,
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(b)
Charge Q
2.
As a homework problem, you
can show that the capacitor
" | | | ; charge at time t is:
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A Couple of Problems from Chapter 31
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End of Lecture 13
Reading: Chapter 31
Review for Quiz 6
HW7
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